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Which of the following Bhakti Saints

(l')? Val 'fi’)hdl.h{ll ya
(2) Mirabai

(3) Surdas

(4) Ramanand

warshipper of Krishna ?

Which of the following was an Alvar

Saint ?

(1) Sundarar

(2) Andal

(3) Sundaramurthi
(4) Akka Mahadevi

Match the following :

(a) Sheikh (i) Qadin
Nizamuddin
Aulia _
(b) Bahauddin (i1) Suhravardi
Zakaria

(c) Mian Mir
(d) Ahmad Sarhindi

(iti) Chisti
(iv) Nagshabandi

Codes :

(@) (b) (¢) (d)
(1) (i) @v) @) (1)
(2) (iii) (i) (iv) (D)
(3) (i) (i) (i) (iv)
(4) (i) (i) (1) Gv)

Choose the correct chronological order
of the arrival of the following
European trading companies in India :

(1) Portuguese, Dutch,  English,
French

(2) Portuguese.  Dutch, French,
English

(3) English.  Portuguese.  French,
Dutch

(4) Portuguese,  English.  Dutch,
French

Which one of the following was not a
Dutch settlement in India ?

(1) Mahe (2) Balasore

(3) Chinsura (4) Negapatam
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Madras was restored to the English by
the French through

(1) Treaty ofAix-'la-C]wpellc (1748)
(2) Treaty of Pondicherry (1754)

(3) Treaty of Salbai (1782)

(4) Treaty of Manglore (1784)

Which of the following statements
about British East India Company is
not true ?

(I) In 1609 A.D. Captain Hawkins
came to Jahangir’s court to scek
permission to open factory at
Surat.

(2) Jahangir initially granted
permission but later refused under
the pressure of Portuguese.

(3) When a Portuguese fleet was
defeated by the English at Swally.
Jahangir issued Farman in favour
of English.

(4) The Portuguese fleet was deteated
under the Captainship of Thomas
Roe.

The Treaty of Bassein is associated
with which Anglo-Maratha war ?

(1) First Anglo-Maratha war

(2) Second Anglo-Maratha war

(3) Third Anglo-Maratha war

(4) First Anglo-Mysore war

Whom did Wellesley enthrone after
the death of Tipu in 1799 ?

(1) Basalat Khan
(2) Pratap Singh
(3) Krishna Raj
(4) Nandraj
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Who abolished “*Dual Government™ in.
Bengal ?

(1) Sir John Shore

(2) Warren Hastings

(3) Lord Hastings

(4) Cornwallis

The first Skirmish of Shivaji with the
Mughals took place in 1657. Who was
the Governor of the Southern part of
the Mughal Empire at that time ?

(1) Shaista Khan

(2) Aurangzeb

(3) Mirza Raja Jaisingh
(4) Muradbakhsh

The original constitution contained
(1) 392 Articles and 6 Schedules
(2) 395 Articles and 8 Schedules
(3) 394 Articles and 8 Schedules
(4) 396 Articles and 6 Schedules

Originally how many freedoms were
included under Article-19 of the Indian
Constitution ?

(1) 5
(3) 7

(2) o
4 9

What was ‘Solidus’ ?
(1) A gold coin issued by Roman
empire

(2) A Greek Play

(3) A kind of Roman wine
(4) A designation in Greek army

Which of the following is not correctly
matched ?

Language Region
(1) Coptic —  Egypt
(2) Punic —  North Africa
(3) Celtic —  Spain

(4) Aramaic Western Europe
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Which of the tollowing statements

about the Chinese Civilisation are

correct ?

A. Xia dynasty was
historical dynasty.

the oldest

B. Shang dynasty came to power
after Xia dynasty.

C. Shi-Hwang-ti
cmperor

means the first

D. The man who put the system of
feudalism to an end called himself
Shi-Hwang-ti.

Choose the correct options :
(1) A.B (2) A.C
(3) A.B.D (4) A,B,C.D

Who among the following, according
to the Chinese origin myths, was the
creator of the universe ?

(1) Pan Ku (2) Long Wang
(3) Nuwa (4) Nezha

The step-pyramid of Sakkara was built
as a tomb of

(1) Pharaoh Khutu

(2) Akhenaton

(3) Zoser

(4) Khatre

With which of the following was the
queen Cleopatra associated ?

(1) Rome (2) Greece

(3) Egypt (4) Mesopotamia

Which geographical area is called the
‘Heart of the Roman Empire’ ?

(1) Mediterranean Sea

(2) Black Sea

(3) Sahara Desert

(4) Rhine & Danube valley


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

2

(3]
I~

9

2

S0 ]
n

1.

4.

eY

“feor) Tard| T STTTRT el T
(1) FreggEe (2) YA
(3) T (4) I IAF A

Freferfad i mifera IR

gfea ug aref

() B (a) A =N

(i) &Y (b) YU WHINH
LRI

Gi) g8 (¢) TR % w3
| el % ST

(iv) TEET (d) T ht Sirat

HEl He AT :

Gy (i) (i) (iv)

(h (@ (b)) (© ()

(2) (@ (¢) (b) (d)

(3) (d) (¢) (a) (b)

4 (@) (© () ()

qebi— - FergenTeh = T fre femar 2
(1) scfsd

(2) ITEATIEH Wesil

(3) ThIear FHUSHITE

(4) fbEgd HEHg

Iore e gEfa g -

(1) FEEd
(3) a4

(2) foeiem @
(4) HEEE I

refe ST wRt “gfiomay” ferea o -
(1) urefergs & wfaem

2y fafeen & wfasm

(3) aefiren & sEigH

(4) UTefeTgH & 3K

21.

22.

23.

24,

GET IT ON
Google Play

The *Hijri Era® was introduced by
(1) Prophet Muhammad

(2) Abu Bakr

(3) Al

(4) Umarl

Match the tollowing :

Islamic term Meaning

(i)  Sira (a) Quranic
Interpretation

(i) Hadith  (b) Traditional

Social Custom

Records of the
words and the
deeds of the
Prophet

(ii1)  Sunnah

(c)

Tafsir  (d)

Biography of
the Prophet

(iv)

Choose the right code :

(i) (i) (i) (iv)
(1) (@ (b) (c) (d)
(2) (@ (¢) (b) (d)
(3) (&) (© (a) (b)
4) @ © (b (@

Who abolished Turkan-i-Chihalgani ?
(1) Balban

(2) Alauddin Khalji

(3) Ruknuddin Firozshah

(4) Nasiruddin Mahmud

Ulat Bansi belongs to
(1) Surdas (2) Biharidas
(3) Chaitanya (4) Kabirdas

Ancient trade route ‘Dakshinapath’
was stretched between

(1) Patliputra to Pratishathan

(2) Vidisha to Pratishathan

(3) Taxila to Kanchipuram

(4) Patliputra to Urayur
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Which of the following was not a .
provincial capital during the reign of
Ashoka ?

(1) Taxila )
(4) Dhauli

Tosahi

(3) Suvarngiri

Which of the following is a bilingual
inscription ot Ashoka ?

(2) Shar-1-Kuna

(4) Shabazgarhi

(1) Laghman

(3) Taxila

Which Purana consists of the longest
list of Andhra Satvahana kings ?

(1) Garud Purana
(2). Narad Purana
(3) Matsya Purana

(4) Brahma Purana

Which of the following statements

about Gupta coinages are true ?

i.  Gupta rulers issued well-minted
gold coins.

ii. The abverse of coins depicts the
reigning king in various poses.

iti. The reverse of the coins have
religious symbols.

Vikramadita

issued Lion-Slayer type coins.

iv. Chandragupta-11

Choose the right code :
(1) Liii&iv

(2) i &iv

(3) i&iv

(4) i, ii.iii & iv
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Identity the literary sources, which

mention the story of Ramgupta

Dhruvadevi ?

i Devichandra Guptam

i1 Kavya Mimansa

i1 Harshcharit

iv. Malti Madhav

Choose the correct code :

(1) i1 &ii (2) i.ii & iii
(3) 1, i & iv (4) i & v

The bald-headed Buddha image of the
Gupta period has been found from

(1) Eran (M.P.)

(2) Mankunwar (Prayagraj)
(3) Junagarh (Gujarat)

(4) Ujjain (M.P.)

Which of the following plays was not
written by Bhasa ?
(2) Karnbharam

(4) Avimarakam

(1) Panchratra

(3) Ratnamala

The biggest centre of sea trade trom
Eastern India during the Gupta period
was '

(1) Bhrigukaccha
(2) Tamralipti

(3) Korkai

(4) Kaveripattam

Which of the following was not a
center of Shunga art ?

(1) Vallabhi (2) Bodh Gaya
(3) Sanchi (4) Bharhut.
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Harsha has been
‘Sakalottarapathanath’ in

called

(1) Chalukyan inscriptions
(2) Si-Yu-Ki

(3) Harshacharit

(4) Ratnavali

The scholar, who was not in the court
of Harshvardhan

(1) Banbhatta

(2) Mayurbhatta
(3) Matang Divakar
(4) Mayoor Sharman

The officer who maintained the record
of income and expenditure in Rajput
administration was

(1) Sandhivighrahik
(2) Akshapatalika
(3) Bhandagarika
(4) Mahapratihara

Main centre of Education during the
period of Pallavas :

(1) Kanchi
(3) Ujjaini

(2) Vikramshila
(4) Taxila

The original name of the post of the
Ministers during the Sangam period

(2) Surabh
(4) Amatya

(1) Amaichar
(3) Mantri

Which of the following is the largest
Hindu temple in Indonesia dedicated
to Trimurti — Brahma, Vishnu, Shiv
(Mahesh) ?

(1) Angkorwat temple
(2) Ayutthaya temple
(3) Prambanan temple
(4) Borobudur temple
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The Angkorwat temple in Cambodia
was built by

(1) Yashovarman

(2) Jayavarman-VI

(3) Suryavarman-lII

(4) Rajendravarman

Which one of the following was not an
important trading centre during the
Mughal period ?
(1) Agra

(3) Lahore

(2) Burhanpur
(4) Golkunda

According to Badayuni. in which year
did Akbar abolish Jaziya ?

(1) 1579 (2) 1580

(3) 1564 (4) 1575

The painter of the Mughal period, who
excelled in painting hunting scenes,
was
(D
)
(3)
(4)

Manohar
Bishandas

Mansur
Muhammad Nadir

In which one of the following
buildings was Pietra-Dura used for the
first time ?

(1) Buland Darwaza

(2) Mausoleum of Humayun

(3) Tomb of Itmad-ud Daulah

(4) Panch Mahal

Which of the following pairs is not
correctly matched ?

(1) Jahangir — William Hawkins

(2) Akbar — Thomas Roe

(3) Shahjahan — Tavernier

(4) Aurangzeb — Manucci

11
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a b ¢
(ry i i 11
(2) iv i i
(3) it v 1

4 1 i v

-1l

(&)
i T
ii. FATEUHR
iii. T

iv. 3nyfs 3y
g

48.

49.

11

(g vgiedl § gfe ggifean se &
ydter wIaSl U1 Al GRATEl Bl Welleh
o |
(1) <udt
(3) Fearst

1857 Y hifcl 1 Hewaqul qRed @

@I 7

(1) Re-ggomm & = awERes
v o gfeg _

(2) HEE H HIA I Wled
T

(3) &1 =l 1 gfg

(4) TR T3 61 AEH § HE HH

(2) =
(4) =g

10 7€, 1857 ! A3 | hiF €1 IHE

FHHIVE KL &1 T 9 faariz=n 3 shifd 1
Ve fema ?

(1) R BRe (2) ST IS
Q) FadE (4) AedEd
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Google Play

Match the Revolts in List — 1 with
Places in List — 11 :

List —1 List —II
(Revolt) (Places)
a. Sanyasi 1. Gujarat
Revolt
b. Vizianagaram ii. Travancore
Revolt
c. Veluthampi 1ii. Bengal
Revolt
d. Revoltofthe iv. Modern Andhra
Kolis Pradesh
Codes :
a b C d
(L) 21 i iy
(2) iv i i
(3) v il i
4) 1 i v i

In the Rajmahal Hills, if Paharia life
was symbolised by hoe, then the
Santhals represented by

(1) Sickle (2) Plough
(3) Axe (4) Knife

What was the important change of the
Revolt of 1857 7
(1)

Increase in the communal division
between Hindus and Muslims.
Transfer of power from company
to crown.

Increase in Military alertness
Lessened importance of local
rulers in administration.

Who was the officer commanding at
Meerut on 10" May. 1857 when the
sepoys broke out in open rebellion ?
(1) General Hewitt

(2) General Huge Rose

(3) Colonel Neill

(4) Charles Bell
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freferfaa o & fope wrTeRT @1 ¥E |
FETt TehR Y- a1 Y W off ?

(1) URNfRR

(2) WG WSS

(3) sfogam anfufem

(4) «T i

et o fava wdf due # foereprig 3 e
a form 2

(1) 1872 (2) 1890

(3) 1893 (4) 1901

HyrgEg T 3 Ik guefhi 3 1866 o
I G GHS =T ?

(1) 3nfe sren gwm

(2) AT HET

(3) & HHIS 3T ghen
(4) o TuT

Tt gae awE i wiig Hfa & R
T 2 Rt 37 fem yia 8 2

(1) gy (2) T THRR
(3) T = (4) HaTg HIgR

1885 3. ® wuyifuq wie  SEte
T weer & gefa 8 g -

(1) et wgar

(2) FEHIEH dusil

(3) .2, dem

(4) SEAZAY AR
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GET IT ON
Google Play

Which of the following newspapers
was favoured the most by the English
Government ?

(h
(2)
(3)
(4)

Pioneer
Madras Standard
Indian Opinion

Bombay Chronicle

When did Vivekanand Participate the
Parliament ot the World Religion held
in Chicago ?
(1) 1872
(3) 1893

1890
1901

(2)
(4)

Which Samaj was founded by Keshab
Chandra Sen and his followers in
18667

(1) Adi Brahmo Samaj

(2) Prarthna Samaj

(3) The Brahmo Samaj of India

(4) Dharma Samaj

What was the of Swami

Dayanand Saraswati’s famous work in
which his views were published ?

(1) Satyarth Prakash
(2) Rast Goftar
(3) Geeta Rahasya

(4) Samvad Kaumudi

name

the
Association,

Who is not associated with

Bombay  Presidency
established in 1885 A.D.

(1) Firozshah Mehta
(2) Badruddin Tayyabji
(3) K.T. Tailang

(4 Devendranath Tagore

11
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56. Y- g-11 & gafod Hif -
-1 gHi-11

a. SRER W i S S
arterfaem, 1878

b. 3fem Ffafdd i

afefm, 1904

c. YRdE  Hitde

arferfam, 1909

d. U eﬁrﬁmr,

1919

%:

a b C d
() i vl i
(2) i i 1 v
(3) il 1 iv i
4) iv 11 v i

YR TR ffem, 1919 Tgweyl @

Rt 3T I fopa -

(1) gere fafiferes

(2) g4 wEA

(3) STt T

(4) ¥ 3 wida TRl # fwal
[EEISES

S |1 JH T gaferd g ?

() # - 3feem & 6 yeeTm
(2) Tigs — B % wfemsrt 6
TR I
(3) T - feoeht quam #1 s
(4) f - vrd =) fgd AT

TS Hsi
iii. oe foreq

iv. e fiver

for ad o fafaer e when 1 siresan
3T 19 99 H 7S ?
(1) 1860
(3) 1866

(2) 1862
(4) 1878
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GET IT ON
Google Play

Match the List — [ with List— 11 :

List -1 List - 11
a. Vernacular i. Lord
Press Act, 1878 Chelmstord
b. Indian ii. Lord Curzon

Universities
Act, 1904
¢. Indian Council
Act, 1909
d. Rowlett Act,
1919 '
Codes :
a b o d
(. 1 iv il i
(2) i il i v
(3) iii i iv i
4) iv i iv i

iit. Lord Lytton

1v. Lord Minto

The Government of India Act, 1919 is

important as it introduced

(1) Separate Electorates

(2) Diarchy

(3) Provincial autonomy

(4) Separation of subjects between
central and provincial
governments

Consider List — I and II., which one of

the following is correctly paired :

(1) Mayo — Beginning of the
system of Indian
railways

— Visit of Prince of
Edinburgh to
India

— Holding of the
Delhi Durbar

— Second  census
taken in India

(2) Northbrook

(3) Lytton

(4) Ripon

In which year did the maximum age
for the Civil Service examination was
reduced to 19 years ?

(1) 1860 (2) 1862

(3) 1866 (4) 1878
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(3) AT (4) SepTiE

T e B R GER S Gy

(2) £ SefieifrA Hiefdl s & ==
(3) AT HIATEE ot
(4) ATEE1-whrga R

AT SEeThvE 3 ATH ¥ HT ST @ :

(1) diet et & g

(2) T g fRE T SgfeRe S
¥ 31

(3) i ged st st 1 Heherd

(4) Wi arsfEes g e R e
%1 U | 3TATG

st SRl 3t SufRewel % AeT HH
g 17 5, 1775 1 &1 ?

(1) BRE 3R Afere i g
(2) s oot 1 45

(3) =Teded i g4

(4) ETRA 1 g3

JeREdl waTsd § i % S

Iufas Ifda o

(1) e sl g fE A
Taeraratt g Fraifea femem m |

(2) forem gr weurer wien smEA

(3) T et g e s
TEeh o

(4) =T ETHd e grRa
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GET IT ON
Google Play

Who was the famous humanist scholar
of Holland who was given the
recognition as ‘A World Citizen’ ?
(2) Cervantes
(4) Bocaccio

(1) Erasmus
(3) Montaigne

In which booklet has Martin Luther
recommended marriage for religious
heads and considered the life of
renunciation useless ?

(1)
(2)

September Testament

The Babylonian Captivity of the

Church
On Monastic Vows

(3)

Ninety Five Thesis

Which of the following is known as
September Testament ?

(1)
(2)

Principles of Peter Waldo
German translation of the Bible
by Luther

Compendium  of
teachings

John Huss’

(3)

English translation of the Bible by
John Wyclifte

Which battles were fought between
British soldiers and colonists on 17"
June, 17757

(1) Battles of Concord and Lexington
(2) Battle of Bunker Hill

(3) Battle of Charleston

(4) Battle of Saratoga

During the 18" century the English
colonies in America

ruled by local assembly which
elected by the qualified voters.

(2)
3)

were directly ruled by Britain.
ruled by local assembly which
had independent rulers

(4) ruled by local feudal chiefs
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GET IT ON
Google Play

During  the Amecrican War of
Independence the First Continental
Congress was convened at

(2) California

(4) Boston

(1) Philadelphia
(3) Georgia

Which Comptroller General in France
declared his economic program as “No
bankruptcy. no increase in taxation. no
more borrowing™ ?
(1) Turgot

(3) Calonne

(2) Necker
"(4) Bressot

Thermidorian Reaction (during the
French Revolution) signify :

(1)
(2)
(3)
(4)

End of the reign of terror
Beginning of the reign of terror
Napoleon’s accession to power
Proclamation of the Constitution
by the National Assembly

Between which two countries was the
Treaty of Tilsit signed in 1807 ?

(1) France and Prussia

(2) France and Russia

(3) France and Austria

(4) France and Britain

Which machine was a mix of water
frame and spinning jenny ?

(1) Flying Shuttle

(2) Spinning Mule

(3) Cotton Gin

(4) Steam Engine

Who invented Cotton Gin ?
(1) Jethro Tull

(2) Turnip Townshend
(3) Eli Whitney

(4) James Watkin
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(1) SIesh e § e =Tted |

(2) t@%ﬂ%%ﬂ@ﬁéﬂwaﬁf
2

(3) TR H sreforaeen # rfiert 6t
i Bt =fee |

(4) 29 B @l @ o H A B
ge ¥ fou =mR & GgeH
SRS S TG =M |

e w1 wHea fhh wer e
1858 Hgat1 AT ?

(1) e 37K Jaifer 11
(2) A 3 Aot I
(3) Meret af Aqifer 11
(4) ifer [ 3 formeh

i wehieRt & qd St & 1R
wehieR B fopd sgere 3 e fean ¢
(1) Y@ ugla  (2) SieERa
(3) FFRSEHG  (4) U EH

St 3 wehTeRoT § STTTegn 3T WiRe %
wem furiaes I el sl T ?

() @em (2) dEE

(3) shifern (4) ofatam

sife A v fawa gg # w9 wm
fomn 2

(1) 1914
(3) 1916

(2) 1915
(4) 1917
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GET IT ON
Google Play

Which was one of the basic principles

of mercantilism ?

(1) Taritt barriers should be avoided.

(2) Colonies are not essential for the
mother country.

limit  its

Government - should

(3)

involvement in the economy.

has to maintain a
favourable balance of trade to

build up its supply of gold and

(4) A country

silver.

Between whom was the Plombiers
Pact signed in July 1858 ?

(1) Cavour and Napoleon-1lI
(2) Mazzini and Napoleon-11l
(3) Garibaldi and Napoleon-I111

(4) Napoleon-1I1 and Bismarck

Which system contributed to economic
unification in  Germany  before
Political Unification ?

(1) Matternich system
(2) Zolleverin

(3) Frankfurt Parliament
(4) Rhine Union

Where was a decisive war fought
between Austria and Prussia during
German unitication ?

(1) Sedan

(3) Crimea

(2) Sedowa

(4) Leipzig

When did America join the First
World War ?

(1) 1914
(3) 19106

1915
1917

(2)
(4
1
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o fava gg @ @ g TeEwE H
gifera AR -

wo favagg @ Ci
TeEY

(a) Tower comE (i) 1882
(b) SRvs-wE R (ii) 1894
(c) TE-wE T (iii) 1904
(d) - e T (iv) 1907
% :

@ (b (©
(1) () (@i (@) @(v)
(2) (i) (i) (i) (iv)

(iv) (iii)
(i) (i)

(3) i) ()
4) (iv) (iii)

1920 % 25 @it Ash FEwER H A
frma &t ? '

(1) mfa
(3) sHEcH

(2) feeer
(4) TEHTES BT

geeit 31936 # fopm 31flhed T899 W
afienr foma 7

(1) sifen (2)@141?%03
(3) WIEER (4) areiEdifmn
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T ?
(1) s
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Google Play

Match the following :

Alliances before Year
First World War
(a) Triple alliance (i) 1882
(b) England-France (i) 1894
Treaty
(¢) Russia-France (iii) 1904
Treaty
(d) Triple Extente (iv) 1907
Codes :
(@ (b)) (© ()
(1) (i) (i) (@) (@v)
(2) () () (i) (v)
(3) (i) (i) (iv) (i)

(4) (iv) (iii) () (i)

Who composed the 25 point Nazi
Programme in 1920 ?

(1) Goering

(2) Hitler

(3) Geobels

(4) Gotfried Feder

Which African state was captured by

Italy in 1936 ?
(1) Eritrea '(2) Somaliland
(3) Morocco (4) Abyssinia

Which of the following countries built
the *‘Maginot Line’ along its borders
for security purposes ?

(2) ltaly

(4) Austria

(1) Germany
(3) France
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80. = ITEehl 1 Ik TN A g‘ﬁ%ﬁ =Hifsw : 80. Match the rulers with their dynasty :

BIKES EVECE] . Rulers Dynasty
EREERISE! (i) <RI - (a) Vijayalaya (i) Chalukya
(b) Pulkesin-I (ii) Pallava

(b) gerehiad | (i) Ueord
(¢) Thgada (iii) =TI

(¢) Simhavarman  (iit) Chalukya

(d) Vijayaditya (iv) Chola
(d) fasmenfe (iv) = Codes s
%< : (@ (b)) (© (d)
(a) (b)) (¢) (d) () Git) (i) 1) ({v)
(D) i) (i) (1) (iv) (2) (i) (i) (v) (i)
(2) (1) (i) (iv) (i) 3) (iv) () (i) (i)

(3) (iv) () (i) (D)
) G (v) (i) (D)

81. gﬁ'%maﬁﬁq

(4) (i) (iv) (1) (1)

81. Match the following :

Monument Place

TR bldl (a) Meguti temple (i) Pattadkal
(a) ﬁﬂ—aqﬁ-{ (i) Weoshd (b) Papnath temple (i) Aihole
(b) oY Hi (i) TR (¢) Descent of (ii1) Darasuram
(c) TEAWT (i) TREE Ganga

ofeHT sculpture

(d) m (iv) Wﬁw (d) Airavateshvara (iv) Mahabalipuram
Hfex temple

& %2 _‘g’ﬁQ y ' Choose the correct code :

(@) (b) (¢) (d) : (@ (b (¢ (d)
(1) @iy (1) (iv) (iii) () (1) () (v) (i)
(2) (i) (1) (i) (iv) (2) () (i) (i) (iv)

(3) (v) () (ui) (1)
(4) (iv) (i) () (1)

(3) (iv) (i) (i) (D)
@) (v) Gii)y () ()
82. Torm wiier wmes 33U 9 GEATYR AT
gl T gwTeA fRam A ?
(1) TIZTAT  (2) TS ¥eH
(3) TR fgedfia (4) gu=ae gud

82. Which  Chola  ruler  performed

Hemagarbha and Tulabhara Yajnas ?

(1) Rajendra-I (2) Rajaraja-1

(3) Rajadhiraj-11  (4) Parantaka-1
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IR § ¥ B W AP e
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(1) ae (a) TR |

(2) et (b) TA R |

(3) A (a) ARATE (b) TAE |

(4) (a) IR (D) T FAE |

Taramsht & T=w % 9w <féofl wial § @ o
TTd T Y=Y o :

(1) =TTt &al

(2) HI T e

(3) <INt g

(4) Tyramwf =

gﬁfﬁ?{ﬁﬁﬂl:
(a) @S =g &iE

(b) TSV Tt

(i) Gfaa 9 <
e

(i) TS He
TITIAT

(c) . TSMuTEET (iii) 9RAEE SEaE

< o ey
(iv) YR <h
gryeTieh

HHET 1 &
IECIGEE]
ST AR T |

(d) Sf. Toi< y41e

f{ :
(a)

(1) Gy @)
(2) (i) (i)
(3) (iv) (iii)
(4) (i) (iv)

® (© (@
(iii) (iv)
(v) ()
Gi) ()
() (i)
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(a)

(b)

(c)

(d)

GET IT ON
Google Play

Consider the following statements
about the defence policy of Shivaji :
(a) Forts were the vital components
in Shivaji’s defence system.

Three man of equal rank were
placed in charge of each fort to
guard against treachery.
Which of the above
statements is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.
(4) Both (a) and (b) are true.

(b)

statement/

Who was the Governor of one of the
four southern provinces of Shivaji’s
Kingdom ?

(1) Annaji Datto

(2) Moro Triyambak Pingle

(3) Dattaji Pant

(4) Shivaji himself

Match the following : :
of

Subhash  Chandra (i) President

Bose Constituent
Assembly

Vallabh Bhai Patel (ii) Establishment

' of State

Ministry

C. Rajagopalachari (iii) President of
Indian
Independence
League

Dr. Rajendra Prasad (iv) Presented a
plan to solve

communal
problem in
India

Codes :

(@ (b) (¢) (d)

(1) iy (@) (i) (iv)

(2) (i) () (v) (D)

(3) (iv) (i) () (i)

(4) (i) (iv) () (i)
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16 3T, 1946 1 gieem <fim o ford
9 4 AR ?

(1) FIcaet S feag
(2) eI s fqa|

(3) g feaw

(4) wrife 3R wewTEAT foad

I TEAT T TEATTh T

(1) T (2) Afseh

(3) W (4) Tereg
HHSTETE 93 3791081 1 THTGe T
(1) feeert (2) femer

(3) AR (4) FEifer
fr=fafaa § @ =9 a1 afa $ gfiag

‘ardter eftfire’ w1 fewm A o 7
(1) g 3T

(2) l=pi 1 TFIHTO

(3) ftr 1 fepamt =t gET@o
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(1) fm
(3) T

(2) BMA
(4) w9
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Muslim celebrated 16"

August, 1946 in which form ?

League

(1) Indirect Action Day

(2) Direct Action Day

(3) Friendship Day

(4) Peace and Goodwill Day

The founder of “Young Italy” was
(1) Bismarck

(2) Mazzini

(3) Cavour

(4) Garibaldi

The- editor of the Socialist newspaper
‘Avanti’ was

(1) Hitler
(2)
3)
(4)

Himmler
Mazzini

Mussolini

Which of the tfollowing was not the
part of famous “April Thesis’ of Lenin ?

(1) War be brought to a close

(2) Banks be Nationalised

(3) Land be transferred to the
peasants

(4) Tsar be punished for wrong doing

Which dynasty was ruling in China

when the revolution broke out in 1911 ?
(1) Ming (2) Han
(3) Chin (4) Manchu
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Which of the following pairs is not
correctly matched ?

(1) Moscow — 19-30" October.

Conference 1943
(2) Atlantic — 14" August,
Charter 1941

(3) Dumbarton - 21" August —

Oax 7" October,
Conference 1944
(4) Yalta — 4-11" February.
Conterence 1945
Under the terms of which of the
following  conventions was the
International Monetary Fund

established ?

(1) Bretton Woods Conference
(2) Yalta Conterence

(3) Tehran Conference

(4) San Francisco Conference

Where was the Charter ot UNO was
signed ?

(1) New York

(2) San Francisco

(3) Hague

(4) Geneva

The key factors in an educational

process are

(1) The learner, the teacher, learning

experiences

The learner, the teacher, learning

process

The learner, learning experiences,

learning process, learning

situation

(4) The learner, the teacher, learning
experiences, learning  process,
learning situation


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

=]
h

96.

97,

98.

“Ruer-mfemm, denfre fafs & s
R o TRl e -SfatRaTaT % 3
fogrl % T W WA Bl g S
ey 3fic e w1 gwIfaa + € |
TWHEIAE

(1) HTH e TeBIE (2) &Rt

(3) ufera st (4) 1TSS

3 faftr 1 ame wrargd s wigsrenfon &
srffa HuA-Hro fagra ® AHia
%_ ;

(1) aviTeres faf

(2) Te-awry fafy

(3) e oty

(4) wETTeHe oty

TS %1 B O g9EE SIEER %
favdivur § araead forl, e
wfa @ @ ?

(1) SHETEE

(2) HATh

(3) IEAERE

(4) HTEIITh-HREp g

afrm & dwmrens &7 g #
gferare foeaa fopam 2

(2) e AfeH
(4) Higer

(1) i.ed. g
(3) €l.uw. femw

22

95.

96.

2.

98.

GET IT ON
Google Play

represents

“Educational Psychology
the application of scientifically derived
principles of human reactions that
affect teaching and learning.” Who’s
statement is this ?

(1) Sawrey and Telford

(2) Skinner

(3) Alice Crow

(4) Crow and Crow

Name the method which is beyond the
predictions and based on cause and
effect theory :

(1) Descriptive method

(2) Correlation method

(3) Observation method

(4) Experimental method

Which school of psychology focused
on the unconscious thoughts, feelings

and memory in determining

behaviour ?

(1) Behaviourism
(2) Psychodynamic
(3) StrL:cturalimn

(4) Socio-culturalism

Who propound the cognitive field

theory ot learning ?
(1) C.L.Hull

(2) Kurt Lewin
(3) B.F. Skinner
(4) Kohler
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“Adolescence i1s that spam of years -
during which boys and girls move
from childhood to adulthood mentally,
emotionally. socially and physically.”
Who said this ? '
(1) Jean Piaget
(3) lJersild

LA

(2) Dorthy Rogers
(4) J.A. Hadfield

Which of the following is related to
the study of adolescence ?

(1) Stanley Hall (2) Bigge & Hund
(3) Eysenck (4) Thorndike
Which statement is about
development ?

(1) It starts since conception.

(2) It is a progressive sequence of
developments.

It is a continuous process.

It continues till maturity.

wrong

(3)
4)

“Individual learns from his own
mistakes.” This statement is based on
which learning theory ?

(1) Classical conditioning

(2) Insight

(3) Trial and Error

(4) Instrumental conditioning

. Which of the following statement is

not true ?

(1) Growth is a biological process.
(2) Teaching is a goal-oriented

process.

(3) Learning is a life-long process.
(4) Development is a quantitative

process.

“Our lessons should starts from
concrete and ends to abstract.” Who
said this ?

(1) Rabindranath Tagore

(2) Spencer

(3) Mahatma Gandhi

(4) Aristotle
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A very significant principle of learning
is that a new response is strengthened

Reinforcement
Discriminative stimulus
Feedback

Punishment

Who was the propounder of cognitive
psychology ?

(1) William James

(2) J.B. Watson

(3) Cattell

(4) Jean Piaget

Who gave the concept of problematic
situation in the process of learning ?
(1) Karl Roger (2) Guilford

(3) Kohler (4) Skinner
Behaviourism helped make
psychology a/an
(1) Attitude
(3) Speciality

(2) Science
(4) Skill

“Mental health is a set of conditions
which enable a person to live at peace
with himself and others.” Who said
this ?

(1) Crow and Crow

(2) L.E. Saffer

(3) Kolesnik

(4) Kuppu Swami

Who wrote the book *“Personality and
the Cultural Pattern™

(2) J.S.Plant
(4) Frandsen

(1) Anderson
(3) Ellis

Habits are acquired through
(1) Repetition (2) Heredity

(3) Environment (4) Culture
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According to Goleman, how many
parts emotional intelligence have ?

(1) 5 (2) 6
(3) 7 4) 8

. The emotions connected with an object

or task are the

(1) Cognitive components of
personality

(2) Affective components of
personality

(3) Psychomotor  component of
personality
(4) All components of personality.

“Communication is the sharing of
ideas and feelings in the mood of
mutuality.” Who said this ?

(1) J.P. Leagon (2) E.G. Mayer
(3) Edgar Dale (4) Keith Devis

. Advance organizer model of teaching

was developed by
(1) Flander

(2) John Dewey
(3) Carl R. Rogers
(4) David P. Asubel

While making a chart which step
should be kept in mind ?

(1) Use of chart

(2) Decoration of chart

(3) Duration of using chart
(4) Quality of chart

How many elements a teaching model

have ?
(1) 5 (2) 6
2] 4) 8
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Which one is not included in four

major components of communication
process
(1) Medium

(3) Source

" (2) Message
(4) Language

Which one is not a component of
Internet network ?
(1) Protocol

(3) Data

(2) Speakers

(4) Modem

Who was the propagator of software
approach of educational technology ?

(1) B.F.Skinner

(3) Morrison

(2) Lumsdane
(4) Bloom

Computer assisted learning is more
useful in the form of

(1) Providing training in mechanical
environment

(2) In group teaching

(3) Providing learning experiences

with one’s own pace

(4) Facing the shortage of teachers

What is the full name of CCTV ?
(1) Closed Contact Television
(2) Closed Circuit Television
(3) Closed Circuit Transmission

(4) Closed Circuit Translation

. Who developed the teaching machine

in education ?
(1) Lumsdane
(2) Bloom

(3) S.L. Pressey
(4) B.F.Skinner

1&.
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“Greek, Egyptian and, Roman
Civilization extinct but the Indian
Civilization is still alive.” This points
to which characteristic of Indian
culture ? _
(1) Antiquity (2) Modernity
(3) Continuity (4) Spiritualism

‘Unity in Diversity’ is an important
characteristic of Indian culture. This
fundamental unity is found in

(1) Unity of Caste

(2) Unity of Community
(3) Provincial Unity

(4) Cultural Unity

In which division of Himalayas are the
famous pastures of Marg, Bugyal and
Payar are located 7

(1) Himadri (2) Himachal

(3) Shivaliks (4) Purvanchal

The eastern part of Indo-China
boundary is called

(1) Dawki-Tamabil
(2) _Moreh
(3) McMohan Line

. (4) Durand Line

Which of the following is the highest
peak of India ?

(1) Mt. Everest (2) Nanga Parvat

(3) Kanchenjunga (4) Nandadevi

Which ot the following Neolithic sites
is known for ‘Ash Mound" ?

(1) Gufkral (2) Senuar

(3) Pallavoy (4) Chirand
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Identify the Neolithic sites. from
where evidence of rice cultivation are
found :

(i) Koldihava

(i1) Utnoor

‘(iii) Mahagadha

(iv) Mehargarh

Choose the correct code :

(1) (i) & (i) (2) (i) & (iv)
(3) (i) & (iv) (4) (i) & (iii)

. In which area did Ne_oiithic man live in

underground pits ?
(1) Karnataka

(2) Assam

(3) Kashmir

(4) Madhya Pradesh

Adamgarh in Madhya Pradesh and
Bagor in Rajasthan bear the earliest
evidence of

(1) Polished stone tools

(2) Wheel made pottery

(3) Domesticated animals

(4) Ploughed fields

. Match the correct pair :

(i) Cemetery R37

(il Dockyard

(iii) Idol of Dancing
- Woman

(iv) Ploughed field

(a) Harappa
(b) Lothal
(c) Kalibanga

(d) Mohenjodam

Codes :

(@ (b) (c) (d)
(1) (i) @iy (i) (iv)
(2) (i) (i) (@v) (D)
(3) (i) (iv) () (i)
(4) (iv) (i) () (1)

Which one of the following animals is
NOT carved on the Pashupati seal
discovered from Mohenjodaro ?

(1) Elephant (2) Rhino

(3) Tiger (4) Bull/Ox

11


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

135.

139.

140.

11

eY

fry T ¥ wEfR@ SH A WA
efaeE d faa 8 2

(1) geFl-®E  (2) @AH el

(3) WIS (4) HUEFTIH

= # 3 Tpg gewThei Wi ¥ T

g ug e 1 ae e @ 2
(1) e (2) WETSIES!
(3) HierTE (4) TETE

 Pefifga i AT TE § ?

(1) e ddta ot 1 Ieord @ |

(2) IR A I GEY UgAT Ioord
SraTengfee # et § |

(3) FAfeeH e § FE, WA HaA b
g g8 HW 9 FeEl § § T
o | ‘

(4) I® I, w&Ae F 104 Fvse H
IeAfEd 2 |

. QTR Higdr dag § -

(1) e
(3) THaCd

(2) FH
(4) US|

‘TR STar’ Hfe Socifiad @ -
(1) o< g §

(2) gagruIs Iutg |

(3) w3ufwg

(4) g A

TR Tt 3 =gy o <t T HEt
i eft ¢ ,
(1) ureeiys | (2) 9ETH

(3) acat | (4) derent

29

135.

140.

GET IT ON
Google Play

Which place associated with the Indus
Civilization is located in Balochistan ?
(1) Sutka-Koh

(2) Rahman-Dheri

(3) Manda

(4) Mundigak

. From which of the following Harappan

sites has the evidence of a signboard
inscription been found ?

(1) Lothal (2) Mohenjodaro
(3) Dhaulavira (4) Rakhigarhi

. Which one of the following statements

is not correct ?
(1) There are thirty three
mentioned in the Rigveda.

deities

The earliest reference of the four
Ashramas is found in
Jabalopnishad.

(2)

Kuru was one of the clans, which
fought against Bharat clans during
Rigvedic period.

Four varnas are mentioned in the
10" Mandal of Rigveda.

3)

(4)

. Ranayaniy Sambhita is associated with

(1) Rigveda
(3) Samaveda

(2) Yajurveda
(4) Atharvaveda

. Ekmevaadvitiyam Brihma™ Sukti is

mentioned in

(1) Chandogya Upnishad

(2) Brihadaranyaka Upnishad
(3) Kathopnishad

(4) Kenopnishad

Where did Mahavira Swami
established Chaturvidha Sangh ? .

(1) In Pataliputra
(2) InPava

(3) In Vallabhi
4)

In Vaishali
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Which of the following rulers were the
patrons of Jainism ?
(1)

(ii) Kharvela

Shishunag

(iii) Chandragupta Maurya _
(1) (i), (i) and (iii) (2) (i) and (ii)
(3) (ii) and (iii) (4) (i) and (ii1)

Where did Gautam Buddha attain

Mahaparinirvana ?
(1) Taxila

(2) Kaushambi
(3) Kushinara

(4) Champa

The most important philosophical text
of the Mahayana sect is

(1) Pragyaparmita
(2) Vajrasuchi

(3) Avadanakalplata
(4) Suttanipat

Which one of the following texts
testifies the divine principle of the
origin of the Varna system ?

(1) Rigveda

(2) Shvetashvatar Upanishad
(3) Atharvaveda

(4) Ramayan

What does the term ‘Tajkira’ mean ?
(1)
(2)
3)
4

A system of measurement of land
A synonym of ‘iqta’
A unit of administration

A biographical work
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146. Assertion (A) : Bhakti saints used the

regional languages to

propagate their
message among the
masses.

Reason (R) : During their times
Persian was the
official language.

(1) (A)and (R) both are true and (R)'

is the correct explanation of (A).

(2) (A) and (R) both are true, (R) is

not the correct explanation of (A).
(3) (A)is true and (R) 1s false.
(4) (A)is false and (R) is true.

Jaunpur city was founded by
(1) Muhammad Tughlaq
(2) Firoze Tughlagq

(3) Ibrahim Lodi

(4) Ibrahim Sharki

Who established the Department of
Diwan-i-Kobhi in the sultanate period ?
(1) Ala-ud-din Khilji

(2) Firoze Tughlaqg

(3) Muhammad Tughlaq

(4) Sikandar Lodi

Which Hindu Samskaras influenced
the Muslim celebrations of Aqigah and
Bismillah ?

(1) Garbhadhan and Pumsavan

(2) Simantonayan and Jatkarma

(3) Mundan and Vidyarambh

(4) Namkaran and Annaprashan

. Which pair is not correctly matched

with regard to the Bhakti Saint and
their area of work ?

(1). Shankar Dev — Uttar Pradesh

(2) Namdev — Punjab '

(3) Tukaram — Maharashtra

(4) Chaitanya — Bengal
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